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SECTION A

Q1. Find the value of  a and b  so that equation has infinitely many solutions.


   2x + 3y  = 7

      ( a – b) x  + (a + b) y   = 3a + b -2 

Q2.If one root of a Quadratic Equation  2x2 + K x – 6  = 0  is 2 than find the value of  K,  also find the other root of the Equation.

Q3.If a2,b2,c2 are in A.P.than prove that  1 / b + c , 1 /c + a , 1 /a + b are also inA.P.

Q4.The areas of two similar triangles are 100cm2 and 49cm2 respectively. If the altitude of bigger triangle is 5cm than find the altitude of the other.

Q5. In an equilateral triangle ABC , AD is the altitude which drawn from A to BC. Prove that  3AB2 = 4AD2 .

Q6. Simplify:            X / X-Y   -    Y / X+Y  - 2XY /  X2  - Y2 

Q7.If  x2 –x – 2 is the  G.C.D of the expressions (x-2 ) ( 2x2 + ax +1) and               (x+1)( 3x2 + bx +2) , find the values of a and b.

Q8. Find the sum of all multiples of 5 between 100 and 1000.

Q9.A man borrowed Rs15000 from a moneylender and promised to return the amount in 3equal half yearly installments. If the rate of interest is 16% p.a. compounded half yearly, find the amount of each instalment.

Q10.A refrigerator is available for Rs16000 cash or Rs8000 cash down payment along with 6 monthly equal instalments. If the rate of interest is 14% p.a. find the amount of each instalment.

SECTION-B

Q11.Draw the graphs of the equations

        x-y +1=0


   3x + 2y-12=0 

Calculate the area bounded by these lines and the x-axis.

Q12. A person on tour has Rs360 for his daily expenses. If he exceeds his tour programme by 4 days, he must cut down his daily expenses by Rs3 per day. Find the number of days of his tour programme.

Q13. Find the probability that a leap year has 53 Sundays.

Q14. The data about annual production of an Indian state is given below: 

	Commodity
	Wheat
	Sugar
	Rice
	Maize
	Grams

	Annual prod
	2750
	2500
	1500
	1000
	1250


 Draw a pie chart to represent the above data.

Q15.  The mean following frequency distribution table is 50.find the missing frequencies x and y.

	Class
	0-20
	20-40
	40-60
	60-80
	80-100
	Total

	Freq.
	17
	X
	32
	y
	19
	120


Q16.If tan + sinw and tan – sin = r then show that w2 – r2 = 4 (w r)1/ 2

Q17.The length of an equilateral triangle ABC is ‘a’ and its base BC, lies on                  x-axis. Point B lies on origin ,then find the coordinates of the vertices of the triangle.

Q18.Find the ratio in which the line 3x + y =9 divides the line segments joining the points (1,3) and (2,7).

Q19.Construct a triangle ABC in which BC=6.5cm, angle A=600 and median              AD =4cm. 
Q20.Water is flowing at the rate of 5 Km/hr through a pipe of diameter 14 cm into a rectangular tank that is 50m long and 44m wide. Find the time in which the level of water in the tank will rise by 7cm. 

SECTION-C

Q21. A container made up of a metal sheet is in the form of a frustum of a cone of height 16cm with radii of its lower and upper ends as 8 cm and 20 cm respectively. Find the cost of milk which can completely fill the container at Rs15 per liter and cost of metal sheet used if it cost Rs5 per 100 cm2. 

Q22. AB is vertical pole. The end A is on the level ground C is the middle point of AB and P is a point on the level ground .The portion CB subtends an angle  at P If AP = n AB, then show that  tann / 2n2 +1 

Q23. In right angle, prove that the square on the hypotenuse is equal to sum of the squares on the other two sides.


In a right angled triangle ABC if angle A= 900 and AD   I    BC. Than prove that AD = BD x CD.

Q24. If a line touches a circle and from the point of contact a chord is drawn , prove that the angles which this chord makes with the given line are equal respectively to the angles formed in the corresponding alternate segments.

         Using the above result ,prove the following:

 If ABC is an isosceles triangle with AB= AC, prove that the tangent at A to the   circumcircle of  ABC is parallel to BC.

Q25.The annual income of Mrs. Rama (exclusive of H.R.A) is Rs227500.she contributes Rs3000 p.m. in her provident fund and pays an annual premium of Rs3000 towards her life insurance policy. She also donate Rs5000 to charity and 10000 to prime minister relief fund. Find the income tax paid by her in the last month of the year if her earlier deductions for first 11 months were at Rs1000 per month.

For calculating income tax, use the following :

(A) Standard   Deduction

  

Gross Income




(1) up to Rs75000


           40% of the gross annual income

(2) From Rs75001 to Rs500000

Rs30000

(3) Above Rs500000


          Rs20000

(B) Rates of income tax


Slab




               Tax

       (a) Up to Rs50000


                NIL

       (b)  From Rs50001 to Rs60000
10% of the amount exceeding  Rs50000

      (c)From Rs60001 to Rs150000
Rs1000 + 20% of the amount exceeding Rs60000

(d) Rs150001 and above 
Rs19000 + 30% of the amount exceeding Rs150000

(c) Rebate in tax 

      (1)  20% of the total  savings subject to maximum  of Rs14000 if the gross  income is up to Rs150000 


      (2)15% of the total  savings subject to maximum  of Rs14000 if the gross income is from Rs150001 to Rs500000.                                 
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